2n ArONIZTIKH B” OMIAOY

TEPMATA
OMAAEX ArQONEZ NIKEZ |[IZOMNAAIEX| HTTEZ NTIEP ATA BAOGMOI
A’ YNOA/NZH BOP/KHZ 2 2 0 0 10 1 6
A.T. KAANIOEAZ 2 2 0 0 5 1 6
AlLAZ. NOT/KHZ ATTIKHE 2 1 0 1 4 2 3
Y.A.N. AHMOKPATIAZ 2 1 0 1 4 4 3
A/NIH AXTYN. AGHNQN/TEA 2 1 0 1 3 0 3
YNOA/NZH TPOXAIAZ AOHNQN 2 1 0 1 2 4 3
A.T. Al. AHMHTPIOY 1 0 0 1 0 2 0
A.T. AKPOIMNOAHZ 1 0 0 1 0 3 0
A.T. AMIMNEAOKHNQON 2 0 0 2 2 6 0
T.A. AMIMEAOKHITQON 2 0 0 2 1 8 0
B° OMINOZ
2n ATQNIZTIKH
THNEAOYXOz2 OINOMENOYMENOZ 2KOP

A/NZH AZTYN. AGHNQN/TEA Y.A.lN. AHMOKPATIAZ 3*0

A.T. AMNEAOKHIQN YNOA/NZH TPOXAIAZ AOHNQN 1*2

A.T. KAANIOEAS AlLAZ NOT/KHZ ATTIKHZ 2*1

A.T. AKPOIMOAH2 A.T. ATIOY. AHMHTPIOY AN

T.A. AMMNEAOKHNQN A" YT/ANZH BOP/KHZ 1*8




